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https://www.runoob.com/lua/lua-tutorial.html

KB WA B

nil =A—PEME, TEEMtx il
AT PHE L T false.
Boolean truesi false. true
false
number ., OEER FSR, 1
5
3.1415
string FFE. “abc”
—XWE|SHEFRS| 528 ‘abc
AFTF-
function BE X FEE. print
table . BIxRT {1, 2, 3}

2.2 BE X EE

* LUA BECTIAEIREE, el F—HES MREE

- 2

* BE X ZIREIERE

function add(a.b)
return a,b,(a+b)

end
* REUEH:
X,y.Z = add(a.b)

2.3 FHMNBEHED
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* LUA REOTUTCIREME, o] IAB— e E £ M REE

25

* BEXZIREERE

function add(a.b)
return a,b,(a+b)

end
« FRECEA:
X,y.z = add(a.b)

3. EEARCSHIZFAPIE X

F1C++SDK HIAPI—1¥, ARCSHIZAAPIE X ESDKER{A4 B HYinclude XA SL X4 E

Amotion_control.hnimovedointiz A4, JFEHAILuaR R B M ELualREE X .
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T

« FEHIE

= @param q ATH, PU rad

= @gparam a DMIEE, B{Y rad/s"2,

= {AMERIMIdRobotConfig fRIE O ge tlointMaxAccelerations () RFHE
* @param v EE, BT rad/s,

= EAERIAIdRobotConfigi IO getlointMaxSpeeds () RER

= @param blend_radius ZEEFE, ¥ m

* @param duration BITHE. 8 s \n

= MR SHRTETEENINERE @RaBWMENTRETHE .

= MW|MERATANSTHE EERE duration ET88.

* duration BJELAERMZIZZNRINTE, BRFEMEMITRE. \n

= % duration = cBIEL{R.

» BTTIEEETHE. MEERRT RSN E, BRIEEESER HiET6E-
= iBduration&FEFo, a 30 v BVEEHEH-

= Greturn RRTHIEE]6: #&E&EEI!%vEJDi“tEDH@LUAER

&

* @par PythonEER

= arg2: fleat, arg3yffloat, argd: fleat) -> int

k. - - IJ
+ @par Lu=BAfIFE 284 BHER

= movelointiq. table, a: number, v: number, blend_rad‘iu%; Eumher. duration:

* number) -> -
*/ EEuRE{ErREIEZEE

int moveloint{const std!:vector<double> &q, double a, double v,
double blend_radius, double duration);

= moveloint(self: pyaybo_sdk.MotionControl, argd: List[fleat], argl: float,

4. ERHBBPITENRESHARIRIES B
7 REEIPEY.proXX 4. lua XX IR TFTE /root/arcs_ws/programig& iz T
1. ERHEEFFHE—THIA, R Ntest_movej, REHRF
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robl @ pr O)F $EF  UEs 2023-07-27 06:45:07 am
O == == G & L 2
38 s 7 #iE Untitle...*

BIAAIREMIEER SRS

2 ?E YN
3 © p&

| Q)

®

=E: | = /root/arcs_ws/program - | G 2 0 @A ®E

& e & M = - =)
a8/ [ circle.lua 229 KB luaFile 7/10/..44 Pt
[ example_move_circle.lua A00 KB lua File  7/19/...44 P!
[ example_move_circle2.lua 378 KiB luaFile 7/10/..48 P
| example_move_circled.lua 4,81 KB lua File  7/10/...48 P1
[ example_move].lua 72..es luaFile  7/24/..13 At
1171 test_20230721.lua 88 bytes lua File  7/24/..57 Al
. | 7 test_pro_20230721.lua 271 KiB luaFile  7/21/..50 Al
@ A | Untitled_C.lua 370 KB lua File 7/18/..06 P!
( R = * @ Untitled_1.lua 272 KiB luaFile 7/24/..44 Al
. = | Untitled_2.lua 3.39 KiB luaFile 7/24/..39 P!
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example_maovej lua 3 [
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=R

L axample_move lua

7
1

®A

pi = 3.14159265358979323846

-- XM, B I

Walypoint_1_q = {-0.93/180*pl, -15.77/1807pl, 97.57/180*pl, 23.33/180*pl, 89.99/180*pl, -1.82/1807pl)
Waypoint_2_q = {~16.67/180*pi, -21.25/180*pi, 56.19/180%pi, -12.57/180*pi, 89.99/180%pi, -17.56/180*pi}
Waypoint_3_q = {30.22/180%pl, -14.97/180%pl, 61.42/180%pl, -13.62/180%p|, 89.99/180*pl, 29.33/180%pi}

- LXTEaf AR A 1. 3
maveJoint{Waypoint_1_a, 1,1, 0, 0)
textmsg(*joint move to waypoint_1")

=R T R e

test_movej.luafti:
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1 pi = 3.14159265358979323846
2 -- XTif, B E
3 Waypoint 1 q = {-0.93/180*pi, -15.77/180*pi, 97.57/180%*pi,
23.33/180*pi, 89.99/180*pi, -1.82/180*pi}
4 Waypoint 2 q = {-16.67/180*pi, -21.25/180*pi, 56.19/180*pi,
-12.57/180*pi, 89.99/180*pi, -17.56/180%pi}
5 Waypoint 3 q = {30.22/180*pi, -14.97/180*pi, 61.42/180*pi,
-13.62/180*pi, 89.99/180*pi, 29.33/180*pi}
6
7 -- REGHRELE
8 setSpeedFraction(0.8)
9 -- MUXTEEIMNA R AT 3N KA Waypoint_1. Waypoint_2FWaypoint 3
10 moveJoint(Waypoint_1 q, 1, 1, @, 0)
11 -- BEB¥TEIRlaubo_control HEH
12 textmsg("joint move to waypoint_1")
13
14 moveJoint(Waypoint 2 q, 1, 1, @, 9)
15 textmsg("joint move to waypoint 2")
16
17 moveJoint(Waypoint_3 q, 1, 1, @, 9)
18 textmsg("joint move to waypoint_3")
19

3. fR7F.proL#E, @& Npro_movej, B .proXERZAEEF . luaXE-=&18E,

robl @ #HH 23 Fih Y&Es UEs 2023-07-24 12:06:42
" 8 G- 8 e ® .
@ & e i HFE @7 Untitlg
<)(&)[£][=][«)(z) [a]t]e] 1 ©mEs w7
«] |- 2 ﬁaj HEEARE REFA...
u 3 example_movej.lua

EAERF.pro LIZRIRTR, [ERf&TE/root/arcs_ws/programi&is FEK—15 .proX {43
HHERY.luaxX 4, e ASEFRHITIZE X MuaXX 4,
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WAREB o ow Xt

BACEE MR RS

test_movej.lua

TH fReE Bk RiFAH
1 pi = 3.14159265358979323846
2 - XTf, B NE
3 Waypoint_1_q = {-0.93/180%*pi, —15.77/180%*pi, 97.5’
41 Waypoint_2_q = {-16.67/180%*pi, —21.25/180%*pi, 56.'
5 Waypoint_3_q = {30.22/180%*pi, —14.97/180*pi, 61.4:
6
7 - METiEEe AR HOREEs TR Waypoint_1, \
g8  moveJoint(Waypoint_1_g, 1, 1, 0, 0)
9 textmsg(“joint move to waypoint_1")

10

11 moveJoint(Waypoint_2_g, 1, 1, 0, 0)
12 textmsg(*joint move to waypoint_2")

14 moveJoint{Waypoint_3_qg, 1, 1, 0, 0)
15 textmsg(*joint move to waypoint_3")

A
(uw =n QP =)
©@ 6 0

Bz BiF  shaEm

BT FE  2023-07-27 07:01:10 am
e =
iz E i pro_m...

2 (E & ARE
3 test_movej.lua

®
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O TR ES
C == ==

HERB T w#

HERBRMERAX ARSI

1H £} =3 B1FH

1 pi = 3.14159265358979323846

2 — X7V, 2 NE

Waypoint_1_q = {-0.93/180%pi, -15.77/180*pi, 97.5
Waypoint_2_q = {-16.67/180%pi, -21.25/180*pi, 56.
Waypoint_3_q = {30.22/180%pi, -14.97/180*pi, 61.4:

B W

- On

— DIXTFiEahp AR HORE 3T 8 A Waypoint_1, \
8  moveJoint{Waypoint_1_qg, 1, 1, 0, 0)
9  textmsg(”joint move to waypoint_17)

moveJoint{(Waypoint_2_q, 1, 1, 0, 0)
textmsg(”joint move to waypoint_2")

moveJoint(Waypoint_3_q, 1, 1, 0, 0)
textmsg(”joint move to waypoint_3")

() SIS ) (=]

A

e =o @) ==
@ 6 0
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BT Es 2023-07-27 07/02:09 am

pro_m...

i

s

1 local aubo = require('aubo’)
2 local sched = sched or aubo.sched
3 local math = aubo.math or math
4 HEBAETIESXFELR
5 local sleep = sched.sleep  IGfTIXPEIA T
6 local thread = sched thread
7 local sync = sched.sync
8 local run = sched.run
9 local kill = sched kill
10 local halt = sched halt
11 function p_pro_movej()
12  local _ENV = sched.select_robot(1)
13  setCollisionStopType(0)
44 setCollisionLevel(6)
15  setHomePosition({0,-0.2617993877991494,1.7453292519943
16  modbusDeleteAllSignals()
17  setDigitallnputActionDefault()
18 setDigitalOutputRunstateDefault()
19  setPayload|(0, {0,0,0}, {0,0,0}, {0,0,0,0,0,0,0,0,0})

20  setTcpOffset({0,0,0,0,0,01)

21  setToolVoltageOutputDomain(0)

22  setToollolnput(1, true)

23 setToolloinput(2, true)

24  setToolloinput(3, true)

25 setToollolnput(0, false)

26 setPlanContext{sched.current_thread_id(), 1, "¥#1I&=EE")
27 u57faubea? = {0,0,0,0,0,0}
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_L script. h ® 4 ¥ deprecated

If'.-:'.i:

* EERIE

RPN .- 11 5 I~
* @Eparam path BIEIHTEEMRIEE

* @retval @ BRID

* @retval -1 S

*/

int sendFile{const stdi:istring &path);

I."".-:t

* HEREAT
= A EEIRE

@param script BIEMAE

= @retval @ R

= @retval -1 2L

=/

int sendString(const std::istring &script);

+ o

5.2 SDKHIARIZIRIEL B
1. FEARHIRE LualliANF2Fe .
(1) TEEFLES N NauboZfE

1 local aubo = requirel’aubo’)
2 local sched = sched or aubo.sched
3 local math = aubo.math or math
il
5 local sleep = sched.sleep
6 local thread = sched.thread
7 local sync = sched.sync
8 local run = sched.run
9 local kill = sched.kill
10 Jocal halt = sched halt
11 function p_pro_movej()
12 local ENV = sched . select_robot(1)
13  setCollisionStop Type(Q)
14 setCollisionLevel(E)
M5  setHomePosition({0,~0.2617993877991494,1.74532925199433,0.4363323129985824,1 57
16 modbusDeleteAllSignals()
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(2) BFERERNINBHES

67 local app = {}
68
69
70 app.PRIORITY = 1000 —- set the app priority, which determines app execution order
71 app.VERSION = "0.1"
72 app.VENDOR = "Aubo Robotics”
73
@/ 4 function app:start(api)
75 —
76 self.api = api
77 _prnt("start-—_")

78] p_Untitled_2()

R E ARV &R

80

81 function app:robot_error_handler(name, err)
82 —

83 print("An error hanppen to robot ”..name)
84 end

85

86 —- return our app object

87 retum app

(3) ZHITETHBHARE Htest_movej.luar] USRI, 1RTEItest_movej2.lua

%
1 local aubo = require('aubo')
2 local sched = sched or aubo.sched
3 local math = aubo.math or math
4
5 local sleep = sched.sleep
6 local aubo = require('aubo')
7 local sched = sched or aubo.sched
8 local math = aubo.math or math
9
10 local sleep = sched.sleep
11 local thread = sched.thread
12 local sync = sched.sync
13 local run = sched.run
14 local kill = sched.kill
15 local halt = sched.halt
16
17 function p_movej()
18 local _ENV = sched.select_robot(1)
19 pi = 3.14159265358979323846
20
21 -- KA, B E
22 Waypoint_1 q = {-0.93/180*pi, -15.77/180*pi, 97.57/180*pi,

23.33/180%pi, 89.99/180%pi, -1.82/180%pi}
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23

24

25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44

45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
6l
62
63
64

Waypoint 2 q = {-16.67/180%pi, -21.25/180%pi, 56.19/180%pi,
-12.57/180*pi, 89.99/180*pi, -17.56/180*pi}

Waypoint 3 q = {30.22/180*pi, -14.97/180*pi, 61.42/180*pi,
-13.62/180*pi, 89.99/180*pi, 29.33/180*pi}

-- REGHRELE

setSpeedFraction(0.8)

-- BIETIEENA R ET 3NN S Waypoint_1. Waypoint_2#Waypoint_3
moveJoint(Waypoint 1 q, 1, 1, 0, 0)

-- BEE¥TEIRlaubo_control HEH

textmsg("joint move to waypoint_ 1")

moveJoint(Waypoint_ 2 q, 1, 1, 0, 9)
textmsg("joint move to waypoint 2")

moveJoint(Waypoint_3 q, 1, 1, @, 9)

textmsg("joint move to waypoint_3")
end

local app = {}

app.PRIORITY = 1000 -- set the app priority, which determines app
execution order

app.VERSION = "@.1"
app.VENDOR = "Aubo Robotics”
function app:start(api)
self.api = api
print("start---")
p_movej()
end
function app:robot_error_handler(name, err)
print("An error hanppen to robot "..name)
end
-- return our app object
return app
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& tha] B 1Z AR E 2R A gmTZE P AIpro_movej.luaXX 4,

2. FQtCreator ¥TFF example_script.cpp i ffll, J&test_movej2.luadl & pro_movej.luaz Il
EELINA, EAETABRERFRINEAELE, TFEITRE. HEE
example_script.cppi&intles A _EEBRIKAD,

XEBEBRM G EEN Ttest_movej2.luaX 4 :

FiE1 BluaX R EIRRFRNHRITERS, Blexample/c++/build/binX 43k, 1517
example_script.cppfUiB 2 /G, E&InkAtest_movej2.luaBl 7]

Terminal

[Info] [connector_asio.h:108] Connect to 127.0.0.1:30004
[Info] [rpc.cpp:92] SDK INTERFACE VERSION: ©.21.0

[Info] [rpc.cpp:93] SERVER INTERFACE VERSION: 0.21.0
[Info] [connector _asio.h:152] RPC Client login

[Info] [script.cpp:95] Start aubo_script recv polling...

[Info] [script.cpp:263] Script Client login
test movej2.lualj

FiE2: BluaXHBREIFERTHITE RSP, BIAIEE, BBAiziTexample_script.cppflis
ZIa, EZiRH Atest_movej2.luafiJi&12 (/root/Desktop/test_movej2.lua) BNw]

Terminal

[Info] [connector_asio.h:108] Connect to 127.0.0.1:30004
i[Info] [rpc.cpp:92] SDK INTERFACE VERSION: 0.21.0

i[Info] [rpc.cpp:93] SERVER INTERFACE VERSION: ©.21.0
[Info] [connector_asio.h:152] RPC Client login

[Info] [script.cpp:263] Script Client login
[Info] [script.cpp:95] Start aubo_script recv polling...
| /root /Desktop/test movej2.lualj

3. HTFexample_script.cppmfliR B MErpcRSS, PRIAR DUSISARRER S0 TR
REE.
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A 25 * dint main(int argc, char **argv)
6 {
27 #ifdef WIN3Z
= /I #Fwindows SIS S A3 TGRS UTF-8
29 SetConsoleQutputCP(CP_UTF&);
37 fepdif
31 ! auto rpc = std::make_shared<RpcClient>();
32 I J EOER: #E3 RPC RS
33 I rpc->connect (LOCAL_IP, 30804):
34 I JOEOER: 8F
35 I rpc->Llogin{"aubo™, "123456"):
37 auto script = std::make_shared<ScriptClient>();
38 ff BOAMA: &EE3 SCRIPT BS
39 script-»connect (LOCAL_IP, 30082);
48 {f BO#EA: B8
41 script-»login{"aubo", "123456");
42
43 f EARETHE
44 char file_name[28];
45 cin »> file_name;
46
47 f T
48 ifstream file;
49 file.open(file_name);
50 {f BT R, NMEHERF

Lid Pad 2

B

onoun

= @ W0 00 =l

w1 O S I 6 6 6 6 Ry |

T NG
d Pud |

Ly B ¥ I <

- if (1file) {
cout << "open fail.™ << endl;
exit{l);
h

{ AREFTEN PRI s
std::string str_all;

- while (!file.eof(}) {
std::string str_line;
getline(file, str_line);
str_all += str_line;
str_all += "\n";

}

str_all += "\rin\rin";

cout << "EIEAE:" << endl << str_all << endl;
file.close();

00 =l

i1 rpc-rgetRuntimeMachine () -»abort() ; |

L0y

- ofnfcn o o oh G

=

f BEMERFIERE
script-rsendSstring(str_all);

// EMAERFIERTEEE

- while (1) {
std::this_thread::sleep_for(std::chrono: :seconds(1}));
}

return @;
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